MATH 200
March 15, 2022
Directions Use logarithmic differentiation to find the derivatives of the given functions.

Name:

1. y=Gz+3)

Inly] = In|(5z + 3)"
Inly| = zln|5z+ 3|

D, [ln |y|} = D, [mln |52 + 3‘}

Yy

Y - Lmbx+ﬂ+x5m+3
;o ST

y = y(ln}5x+3|+5x+3)

5
" = (5 3)"(In b 3
y (5z + 3) (n‘x%— “—5;5—1—3)

2.y =/ sin(x) cos(z)

Inly] = In|yz sin(z)cos(z)|

Inlyl = In }xl/Q sin(z) cos(z)|

Injy] = In }x1/2| + In|sin(x)| + In | cos(x)]
1

Injy| = §ln |z| + In|sin(z)| + In | cos(z)]

1 cos(z) sin(z)

1 :
D$[1n|y|] = Dxbln’x‘+1n|sm(m)|+1n|cos(x)|}
1
2

sin(z)  cos(z)

Yy o=y (% + cot(z) — tan(az))

, sin(z) cos(z)

Yy = N + V7 cos?(z) — v/ sin’(x)
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Directions Use logarithmic differentiation to find the derivatives of the given functions

1. y=abt3

Inly| = In|z**?|

Inly] = (52 +3)In|z|
Dz[ln|y|} = Dz[(5x+3)ln|a:”

/
1
L~ 5|+ (z+3)—
Yy T
) 3
J - y<51n\x|+ r+ )
Y = 5z+3(51H+ +)
2.y =1x%cos(x)sin(z)
Inly| = In|z* cos(z)sin(z)|
Inly| = In|z*| +In|cos(x)| + In|sin(z)]
Inly| = 2In|z|+ In|cos(z)| + In|sin(z)|
Dz[ln]y@ = Dx[21n|a:’—i—ln\cos(:z:)\—i—ln]sin(x)]]
y 1 sin(z) = cos(z)
y  ~ax cos(z) sin(z)

Yy =y (% — tan(z) + cot(x))

T

y = x*cos(z)sin(x) (2 — tan(z) + Cot(x))

y = 2xcos(z)sin(r) — 2% sin’(x) + 22 cos®(z)



